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#H - I - & B #HE &4 i Al A iR
B HE R A 9, 818, 948
EEAMEE 5, 342, 906
ABE 5,342,906
LYITEE CRIES) El 1 84,500
hEFTEE CRESN) E 4 338,000
BRGMAFRTEE CRIES) E 1 84, 500
EEFTEEDER CGAIES) e 1 46, 284
HERE (BEQL) EEE 1 26, 896
mihpkE (T8 EZ 1 95,614
REEWA (T8 - FH) ® 3 570, 342 | 70LA E130K i
REEBWA (Ti8 - FH) B 2 492, 760 | 130LL L 200K i
REEZWMA (Ti8 - F&) B 1 341,556 | 20014 £ 300K 5
FEREEMA (T - FR) L 1 200, 188 | 200K
FERERYA (Ti& - FH) B 1 250, 874 | 20011 £ 400K i
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#R - I - &5 B HE o it bill
FEREEY, (TiE - FK) B 1 475, 884 | 6001 £ 10005k
AERY (T8 - E%) 1 3 181,134 | 7014 L1305k 5%
AERY (T8 - E%) 1 2 155, 208 | 13014 L2005 i#%
AERY (T8 - E%) 1 1 108, 078 | 20014 L3005k i#
FEREEY (THE - EF) ® 1 78, 414 | 200K
ERERY (TH-E8) 1% 1 98, 352 | 20014 L4005k i#
ERERY (TH-EF) 1 1 186, 282 | 60011 L 10005k %
RiE (BAKE) %% 1 85, 560
SREAERMER (BERAHE) EFIE 8 135, 408
i h=FEE LT ERE 8 , 314, 672
EEXNEFRAE CEEHRFAR) £7 1 32, 400

EiERE 476, 042
Rk = 1 373,993
& - LEE - 1 102, 049
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#H - I - & Bfr #HE &4 o] Al
feEl s [ 2,877, 154
Z D Ath [ 1 =X 1 2,877,154
—REEEF 4,673, 898
—REEEF = 1 4,673, 898
E T 13, 370, 000




